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Questions

1 km=

1mm =

14:00 in 12-hour clock is

16 km =

If arrival time = 2:40 pm and journey time = 4 hours then departure time =

If a car covers 10min 4 s then it speed is

The Perimeter of a square of length 4 cm is

The Length of space between two points is called.

15 km 200 m

15 h 30 min +6 h 30 min =

Answers Choice

.10m
.100 m
. 1000 m
. 10000 m

.0.01 cm
.0.1m
.0.1cm
.0.00001 m

. 01:00am
. 02:00 pm
. 01:00pm
.02:00 am

.0.16m
. 16000 m
. 1600 cm
.16 cm

. 08:40 am
. 10:40 am
.09:40 am
. 11:40 am

.1 m/s
. 11:40 a.m
.2m/s
.3m/is

. 60
. 80
.90
.70
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A.8cm

B. 16 cm
C.12cm
D.7cm

A. Distance
B. time

C
D
A
B
C
D
A
B
C
D
A
B
C
D
A
B
C
D
A
B
C
D
A
B
C
D.

. Speed
. None

.10dm
.20 dm
.30dm
.40 dm

. 150000
. 15100
. 15200
. 15300

. 7000
. 7100
. 7200
. 7300

. 320
. 325
. 330
. 335

. 2 Year

. 2 Years 6 moth
. 6 months
. None

.22h

. 20 h 50 min
.21 h 50 min
22 h 10 min
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Distance / time =

B. Arrival time
C. Departure Time
D. None

A. 16 m/s
B. 18 m/s

D. 22 m/s



